SAYREVILLE BOARD OF EDUCATION

TO: MEMBERS OF THE BOARD OF EDUCATION

MR. EMIDIO D'ANDREA

DR. MARILYN ZEICHNER-SHEDIACK

MRS. TAMIKA REESE

THE BUSCH LAW GROUP LLC

FROM: DR. RICHARD LABBE

DATE: JUNE 2, 2015

AGENDA REGULAR MEETING JUNE 2, 2015

- I. CALL TO ORDER
- II. PLEDGE TO THE FLAG
- III. PUBLIC NOTICE
- IV. ROLL CALL
- V. <u>EXECUTIVE SESSION</u>
- VI. <u>PRESENTATION</u>
 - Teachers/Educational Services Professionals & Educational Support Professionals of the Year Mrs. Reese and Board Members
 - Tomorrow's Teachers Dr. Shediack & Mrs. M. Charmello

VII. <u>APPROVAL OF MINUTES</u>

• Minutes of the Regular & Executive Session of May 19, 2015

VIII. SUPERINTENDENT'S REPORT OVERVIEW

IX. SUPERINTENDENT'S REPORT

A – VISION 2030: FINANCE & INFRASTRUCTURE

Discussion Item: Committee Report

FINANCE

1. The Superintendent recommends and so moves the Board of Education of Sayreville to approve the amount of district taxes, inclusive of current expense, capital outlay, special schools and debt service needed to meet the obligations of the Sayreville Board of Education is hereby requested to place in the hands of the Treasurer of School Monies that amount as per the following schedule:

Current Fund

| Due Date July 10, 2015 August 10, 2015 | <u>Amount</u> \$ 438,189.00 \$3,200,000.00 | Due Date January 10, 2016 February 10, 2016 | Amount \$3,438,190.00 \$5,000,000.00 |
|--|--|---|--|
| September 10, 2015 | \$6,200,000.00 | March 10, 2016 | \$5,000,000.00 |
| October 10, 2015 | \$6,200.000.00 | April 10, 2016 | \$5,000,000.00 |
| November 10, 2015 | \$6,200,000.00 | May 10, 2016 | \$5,000,000.00 |
| December 10, 2015 | \$6,200,000.00 | June 10, 2016 | \$5,000,000.00 |
| TOTAL | \$56,876,379.00 | | |
| | | | |
| Debt Service | | | |
| Debt Service July 10, 2015 | \$1,824,413.00 | January 10, 2016 | \$1,824,413.00 |

2. The Superintendent recommends and so moves the Board of Education of Sayreville to accept the donation of a scoreboard for the Sayreville War Memorial High School athletic field from The Matt Welna Foundation in the amount of \$16,800.00.

WITHDRAWN

- 3. The Superintendent recommends and so moves the Board of Education of Sayreville to approve the purchase of a 2016 Chevrolet Mid Bus 24 Passenger DRW Gas school bus from Wolfington Body Company, Inc., in the amount of \$53,049.10 under MRESC Co-Op Bid #14-15-31.
- 4. The Superintendent recommends and so moves the Board of Education of Sayreville to approve a contract with South Amboy Board of Education (Sending) for student #9082520607 to attend the Preschool Disabilities Program at the revenue rate of \$21,957.00 (pro-rated) effective April 16, 2015 to June 30, 2015.

- 5. The Superintendent recommends and so moves the Board of Education of Sayreville to approve a contract with Irvington Board of Education (Sending) for student #2001566306 to attend the Windsor Learning Center program at the revenue rate of \$53,100.00 (pro-rated) effective April 1, 2015 to June 30, 2015.
- 6. The Superintendent recommends and so moves the Board of Education of Sayreville to approve to amend the contract with The Arc of Middlesex County, North Brunswick from \$8,556.00 to \$8,928.00.
- 7. The Superintendent recommends and so moves the Board of Education of Sayreville to approve the attendance and participation of three (3) Sayreville War Memorial High School students and one teacher/advisor to attend the FBLA National Leadership Conference in Chicago, Illinois from June 29 to July 3, 2015. The students qualified to represent the State of New Jersey at the National Conference. The students who will be attending are Anuj Tevar, Joshua Lytle, and Dhruv Patel; the advisor is Christopher Howard. The teacher and students will be responsible for their own transportation to and from the airport and will be fundraising to help cover the cost of their meals and expenses; therefore, those expenses are not requested from the Board of Education.

Student Airfare & Rooms: 3 students X \$809 = \$2427

Teacher Airfare & Room: \$1445

Conference Registration: 3 students/1 teacher @ \$127 each = \$508

Teacher Meals & Incidentals: Per OMB Guidelines

@\$71/day X 3 days (June 30 – July 2) = \$213

@\$53.25 for first/last day (June 29, July 3) X 2 days =

\$106.50

Total Teacher Meals - \$319.50

TOTAL \$4699.50

8. The Superintendent recommends and so moves the Board of Education of Sayreville to approve the participation of two (2) students from Sayreville War Memorial High School at the FBLA National Leadership Conference in Chicago, Illinois from June 29 through July 3, 2015. Each student will be participating in the National Conference and competitive events as well as required workshops. The two students attending are eligible to compete at the National FBLA Leadership Conference and are aware that they must pay their own expenses since they did not place in the top three spots. The two students participating are Daniela Contreras and Shalom Modi. The Board of Education is requested to cover their cost of registration for this conference as established in the past for students who are eligible competitors:

FBLA National Conference Registration fees for 2 students @ \$127 each = \$254

BUILDINGS AND GROUNDS

- 9. The Superintendent recommends and so moves the Board of Education of Sayreville to approve a Softball Banquet at the Sayreville War Memorial High School on Monday, June 15, 2015, from 5:00 p.m. to 8:00 p.m. in the Cafeteria.
- 10. The Superintendent recommends and so moves the Board of Education of Sayreville to approve a Choir Banquet at the Sayreville War Memorial High School on Friday, June 12, 2015, from 6:00 p.m. to 10:00 p.m. in the Cafeteria. This banquet was originally scheduled for May 26, 2015.
- 11. The Superintendent recommends and so moves the Board of Education of Sayreville to approve a Renaissance Picnic at the Sayreville War Memorial High School on Friday, June 12, 2015, from 1:00 p.m. to 2:30 p.m. on the Football Field.
- 12. The Superintendent recommends and so moves the Board of Education of Sayreville to approve an Alumni Soccer Game at the Sayreville War Memorial High School on Wednesday, August 5, 2015, from 5:30 p.m. to 8:30 p.m. on the football field.

SUPPORT SERVICES

13. The Superintendent recommends and so moves the Board of Education of Sayreville to approve the following transportation contracts contained in BID#2015-16-01 for school year 2015-16 and awarded to the lowest responsible bidder:

| Route | School | # Of | Total Cost | Total Cost |
|-----------------------|-------------------------------|------|-------------------|-------------|
| | | Days | Per Diem | Per Annum |
| Contract: Brow | vntown Bus Service, Inc. (BRN | N#1) | | |
| 6-HS3 | High School | 182 | \$88.00 | \$16,016.00 |
| 6-MS12 | Middle School | 182 | \$88.00 | \$16,016.00 |
| 6-W/ORG | Wilson Orange | 182 | \$88.00 | \$16,016.00 |
| 7-HS4 | High School | 182 | \$89.00 | \$16,198.00 |
| 7-MS19 | Middle School | 182 | \$89.00 | \$16,198.00 |
| 7-E/4 | Eisenhower Elementary | 182 | \$89.00 | \$16,198.00 |
| 16-MS5 | Middle School | 182 | \$119.49 | \$21,747.18 |
| 16-T/PNK | Truman Pink | 182 | \$119.49 | \$21,747.18 |
| 17-MS10 | Middle School | 182 | \$119.49 | \$21,747.18 |
| 17-SUES7 | Samsel Upper Elementary | 182 | \$121.49 | \$22,111.18 |
| Contract: C-W | ay Bus Service, Inc. (CWY#1) | | | |
| 18-MS20 | Middle School | 182 | \$115.00 | \$20,930.00 |
| 18-SUES17 | Samsel Upper Elementary | 182 | \$115.00 | \$20,930.00 |
| 22-A/BLK | Arleth Black | 182 | \$128.00 | \$23,296.00 |
| Contract: Geor | rge Dapper Inc. (DAP#2) | | | |
| 13-HS14 | High School | 182 | \$88.80 | \$16,161.60 |

| 12 MC11 | Middle Caheal | 102 | ¢00 00 | ¢16.161.60 |
|---------------|-------------------------------|-----|---------------|---|
| 13-MS11 | Middle School | 182 | \$88.80 | \$16,161.60 |
| 13-SUES20 | Samsel Upper Elementary | 182 | \$88.80 | \$16,161.60 |
| 15-HS17 | High School | 182 | \$92.00 | \$16,744.00 |
| 15-MS14 | Middle School | 182 | \$92.00 | \$16,744.00 |
| 15-W/BLU | Wilson Blue | 182 | \$92.00 | \$16,744.00 |
| 44-12/ALC | Academy Learning Center | 210 | \$297.60 | \$62,496.00 |
| | | | (w/aide) | |
| | Student, Inc. (FST#1) | | T + 1 = 0 = 0 | T + |
| 2-SJ/BA1 | St. Joe/Bishop Ahr | 180 | \$130.20 | \$23,436.00 |
| 2-T/WHI | Truman White | 182 | \$140.00 | \$25,480.00 |
| 3-SJ/BA2 | St. Joe/Bishop Ahr | 180 | \$130.20 | \$23,436.00 |
| 3-A/YEL | Arleth Yellow | 182 | \$140.00 | \$25,480.00 |
| 4-SJV | St. John Vianney | 180 | \$130.20 | \$23,436.00 |
| 4-T/RED | Truman Red | 182 | \$140.00 | \$25,480.00 |
| 19-A/SCA | Arleth Scarlet | 182 | \$237.40 | \$43,206.80 |
| 20-A/WHI | Arleth White | 182 | \$237.40 | \$43,206.80 |
| 21-A/TAN | Arleth Tan | 182 | \$237.40 | \$43,206.80 |
| 23-A/PUR | Arleth Purple | 182 | \$237.40 | \$43,206.80 |
| 24-A/PNK | Arleth Pink | 182 | \$237.40 | \$43,206.80 |
| 25-A/ORG | Arleth Orange | 182 | \$237.40 | \$43,206.80 |
| 28-EE6 | Eisenhower | 182 | \$237.40 | \$43,206.80 |
| 31-SUES1 | Samsel Upper Elementary | 182 | \$237.40 | \$43,206.80 |
| 33-SUES9 | Samsel Upper Elementary | 182 | \$237.40 | \$43,206.80 |
| 34-SUES10 | Samsel Upper Elementary | 182 | \$237.40 | \$43,206.80 |
| 35-SUES11 | Samsel Upper Elementary | 182 | \$237.40 | \$43,206.80 |
| 36-SUES12 | Samsel Upper Elementary | 182 | \$237.40 | \$43,206.80 |
| 37-SUES15 | Samsel Upper Elementary | 182 | \$237.40 | \$43,206.80 |
| 39-SUES19 | Samsel Upper Elementary | 182 | \$237.40 | \$43,206.80 |
| 41-T/PUR | Truman Purple | 182 | \$237.40 | \$43,206.80 |
| 42-T/BLK | Truman Black | 182 | \$237.40 | \$43,206.80 |
| | mited Autos, Inc. (UNL#1) | 102 | Ψ=071.10 | φ .ε,=σσσσσ |
| 45-M.A.S.T. | Marine Academy of Science | 180 | \$169.65 | \$30,537.00 |
| | & Technology | | 4 - 0 / 100 | , |
| Contract: Weh | rle Bus Service, Inc. (WEH#1) | I | l | I. |
| 1-W/PUR | Wilson Purple | 182 | \$153.84 | \$27,998.88 |
| 5-HS2 | High School | 182 | \$90.73 | \$16,512.86 |
| 5-MS6 | Middle School | 182 | \$90.73 | \$16,512.86 |
| 5-W/GRN | Wilson Green | 182 | \$90.73 | \$16,512.86 |
| 8-HS5 | High School | 182 | \$93.45 | \$17,007.90 |
| 8-MS16 | Middle School | 182 | \$93.45 | \$17,007.90 |
| 8-E/2 | Eisenhower | 182 | \$93.45 | \$17,007.90 |
| 9-HS6 | High School | 182 | \$92.45 | \$16,825.90 |
| 9-MS15 | Middle School | 182 | \$92.45 | \$16,825.90 |
| 9-W/GRAY | Wilson Gray | 182 | \$92.45 | \$16,825.90 |
| 10-HS7 | High School | 182 | \$91.66 | \$16,682.12 |
| 10-119 / | THEII DOILOUI | 102 | ψ/1.00 | ψ10,002.12 |

| 10-MS18 | Middle School | 182 | \$91.66 | \$16,682.12 |
|-----------|-------------------------|-----|----------|-------------|
| 10-SUES14 | Samsel Upper Elementary | 182 | \$91.66 | \$16,682.12 |
| 11-HS12 | High School | 182 | \$93.45 | \$17,007.90 |
| 11-MS2 | Middle School | 182 | \$93.45 | \$17,007.90 |
| 11-SUES16 | Samsel Upper Elementary | 182 | \$93.45 | \$17,007.90 |
| 12-HS13 | High School | 182 | \$91.66 | \$16,682.12 |
| 12-MS13 | Middle School | 182 | \$91.66 | \$16,682.12 |
| 12-T/GRN | Truman Green | 182 | \$91.66 | \$16,682.12 |
| 14-HS16 | High School | 182 | \$94.89 | \$17,269.98 |
| 14-MS4 | Middle School | 182 | \$94.89 | \$17,269.98 |
| 14-SUES4 | Samsel Upper Elementary | 182 | \$94.89 | \$17,269.98 |
| 26-EE3 | Eisenhower | 182 | \$144.75 | \$26,344.50 |
| 27-EE5 | Eisenhower | 182 | \$143.75 | \$26,162.50 |
| 29-EE7 | Eisenhower | 182 | \$139.00 | \$25,298.00 |
| 30-EE8 | Eisenhower | 182 | \$141.00 | \$25,662.00 |
| 32-SUES5 | Samsel Upper Elementary | 182 | \$138.50 | \$25,207.00 |
| 38-SUES18 | Samsel Upper Elementary | 182 | \$138.00 | \$25,116.00 |
| 40-T/ORG | Truman Orange | 182 | \$139.00 | \$25,298.00 |
| 43-T/BLU | Truman Blue | 182 | \$133.00 | \$24,206.00 |

14. The Superintendent recommends and so moves the Board of Education of Sayreville to approve the following school bus emergency evacuation drills that were conducted according to N.J.A.C. 6A:27-11.2. Drills were conducted on school property and all students participated.

| <u>Date</u> | School | Person Overseeing | |
|---------------|--------|-------------------|--|
| May 4-7, 2015 | SWMHS | Dale Rubino | |
| May 11, 2015 | SMS | Gregory Jegou | |

- 15. The Superintendent recommends and so moves the Board of Education of Sayreville to approve the following trips:
 - a. On Wednesday, June 3, 2015, twenty Sayreville High School TV & Film Society students and one teacher to Six Flags Great Adventure, Jackson, NJ. Students will attend an awards conference sponsored by the Middlesex County Schools Superintendent's Office. One Board bus will be utilized in a four-way move at a cost of \$200.18 (salary \$168.28 fuel \$31.90) to be paid by the Board of Education.
 - b. On Friday, June 5, 2015, forty Sayreville High School Auto students and two teachers to Englishtown Raceway Park for an education seminar. One Board bus will be utilized in a four-way move at a cost of \$106.88 (salary \$80.48 fuel \$26.40) to be paid by the Board of Education.

- c. On Wednesday, June 10, 2015, eighty-eight Wilson School students and seven teachers to Burke's Park for the third grade moving-up picnic. Two Board buses will be utilized in a four-way move at a cost of \$62.93 (salary \$58.53 fuel \$4.40) per bus for a total cost of \$125.86 to be paid by the Wilson School PTO. Alternate date: Thursday, June 11, 2015.
- d. On Thursday, June 11, 2015, thirty Sayreville/Middle School Marching Band members to Truman School to participate in Flag Day Ceremony. One Board bus will be utilized at a cost of \$92.01 (salary \$91.46 fuel \$.55) to be paid by the Board of Education.
- e. On Friday, June 12, 2015, eighteen students from the Samsel Upper Elementary School and three teachers to The College of New Jersey in Ewing to interact with Special Olympic participants. One Board bus will be utilized at a cost of \$314.33 (salary \$278.03 fuel \$36.30) to be paid by the Board of Education.
- 16. The Superintendent recommends and so moves the Board of Education of Sayreville to approve:
 - a. Placement of the following classified student in out-ofdistrict placement retroactively for the balance of the 2014-2015 school year. (Transportation is required) (T)

| Student State ID | School | Cost Per Student | Pro-rated Cost |
|------------------|--------------------------------------|---------------------|--------------------|
| 5532604674 | Mountain Lakes Lake Drive Program | \$6,250.00 monthly | \$6,250.00 monthly |
| 6785399177 | Somerset Academy, Bridgewater | \$63,900.00 | \$63,900.00 |
| 5809318282 | Cranford Achievement | nt \$48,473.00 | \$48,473.00 |

Special Education Items – Rationale Key

| ND | New determination - special education eligibility for |
|----|---|
| | student within the district |
| NR | New registration - student with eligibility for special |
| | education services from another district/state |
| NS | New state agency placement – student with eligibility for |
| | special education services |
| T | Transfer of placement – district special education student |
| S | Transfer of placement – by State agency mandate/action |
| Е | Evaluation criteria mandated by NJAC:6A Chapter 14 |
| D | Diagnostic evaluation / consultation for IEP planning |
| I | IEP requirement |
| P | Program requirement specific to the placement or |
| | individual |
| M | Medically required accommodation or service |
| С | Placement and/or classification decisions impacted by court |
| | Mandate. |
| R | Placement and/or services resulting from resolution to |
| | mediation. |

B – VISION 2030: STUDENT ACHIEVEMENT

Discussion Item: Committee Report

CO-CURRICULUM

- 1. The Superintendent recommends and so moves the Board of Education of Sayreville to approve the use of the multi-purpose room at Truman School for "The Battle of the Books". This event will take place on Tuesday, June 9th, from 5:00 p.m. to 10:00 p.m.
- 2. The Superintendent recommends and so moves the Board of Education of Sayreville to approve the Sayreville War Memorial High School Video Game Club to hold a fundraiser from 3:30 p.m. to 5:30 p.m. on June 4th in the cafeteria. The activity is a round robin "Smash" Brothers Tournament. Super Smash Brothers is an action party game where players compete in matches playing as iconic Nintendo characters.

C – VISION 2030: GOVERNANCE Discussion Item: Committee Report

POLICY

1. The Superintendent recommends and so moves the Board of Education of Sayreville to approve the 2014-17 District Strategic Action Plan.

D – VISION 2030: PERSONNEL Discussion Item: Committee Report

Approval of Retirements

1. The Superintendent recommends and so moves the Board of Education of Sayreville to honor the retirement of Libby Feldman, Business Teacher at the Sayreville War Memorial High School, effective October 1, 2015.

Approval of Resignations

2. The Superintendent recommends and so moves the Board of Education of Sayreville to accept the resignation of Brittany Deutsch, Biology Teacher at Sayreville War Memorial High School, effective June 26, 2015.

Approval of Job Descriptions

- 3. The Superintendent recommends and so moves the Board of Education of Sayreville to approve the following job descriptions:
 - Administrative Secretary: Employee Benefits
 - Lead Grounds Keeper
 - Lead Maintenance

Approval of Sidebar and Settlement Agreement (Attachment A)

4. The Superintendent recommends and so moves the Board of Education of Sayreville to approve the SEA Summer Hours Sidebar Agreement (Attachment A).

Approval of Leave Requests and Changes

5. The Superintendent recommends and so moves the Board of Education of Sayreville to approve the following leave requests and changes for school year 2014-15.

| Staff | Position | Department or School | Days (Leave of Absence) |
|----------------|------------------------------|--------------------------------|---|
| Bolster, Kerri | Special Education Teacher | Arleth Elementary School | Retroactive Pregnancy Leave of Absence beginning 6/1/2015 and terminating 20 days after delivery (5 sick days, 2 personal days, 15 unpaid days) |

6. The Superintendent recommends and so moves the Board of Education of Sayreville to approve the following leave requests and changes for school year 2015-16.

| Staff | Position | Department or School | Days (Leave of Absence) |
|---------------------|--|----------------------|--|
| McGrade, Jacqueline | Special Education Preschool Teacher (Project Before) | SUES | Pregnancy Leave of Absence beginning 9/1/2015 and terminating 20 days after delivery Unpaid Childrearing Leave of Absence thru 1/3/2016 |

Approval of New Hires and Modifications

- 7. The Superintendent recommends and so moves the Board of Education of Sayreville to amend the salary of Jonathan Grimm, Special Education Teacher at Sayreville Middle School, from BA + 30, Step 2 (\$47,253 + \$125\$ Stipend =) \$47,378 to BA, Step 2 (\$45,753 + \$125 =) 45,878 total salary, effective 9/1/15 through 1/31/16. Mr. Grimm's salary will be amended to BA, Step 3 (\$46,353 + \$125\$ Stipend =) \$46,478 total salary, effective 2/1/16 through 6/30/16.
- 8. The Superintendent recommends and so moves the Board of Education of Sayreville to approve the following part-time secretaries to work their regularly scheduled hours on June 26, June 29 and June 30, 2015.

| Fazekas, Krystal | Superintendent's Office | \$16.71 Hourly |
|----------------------|-----------------------------|----------------|
| Magielnicki, Carolyn | Special Services Department | \$16.71 Hourly |
| Platon, Marsha | Special Services Department | \$16.71 Hourly |
| VonGonten, Palma | Special Services Department | \$16.71 Hourly |

- 9. The Superintendent recommends and so moves the Board of Education of Sayreville to approve the summer hours for Thomas Law, Athletic Trainer at Sayreville War Memorial High School for completion of Fall sports physicals. Mr. Law will not exceed 60 hours at a contracted rate of \$46/hour, for a total of \$2,760.
- 10. The Superintendent recommends and so moves the Board of Education of Sayreville to approve additional trainer hours for Thomas Law, Athletic Trainer at the Sayreville War Memorial High School, to provide coverage for Fall, Winter and Spring Seasons for school year 2015-16. Mr. Law will work no more than 450 hours at a contracted rate of \$46/hour, for a total not to exceed \$20,700.

Approval of Substitutes

11. The Superintendent recommends and so moves the Board of Education of Sayreville to approve the following support personnel to the **non-certified substitute** or temporary help list for school year 2014-15 and school year 2015-16. All applicants are

certified for substituting. No substitute applicants can be used as a substitute employee until their name appears on an approved substitute list issued by the Superintendent's Office.

> Beading, Darlene Daidone, Kristen Malinowski, Gary

12. The Superintendent recommends and so moves the Board of Education of Savreville to approve the following support personnel to the **non-certified substitute** or temporary help list for school year 2015-16. All applicants are certified for substituting. No substitute applicants can be used as a substitute employee until their name appears on an approved substitute list issued by the Superintendent's Office.

> Allen, Annette Longo, Jessica Malik, Janice Anderson, Maureen

Andrews, Keri Mangiaracina, Barbara Aperawic, Karen Marciniak, Sylvia Appleby, Sandra Maretz, Robert Araneo, Cheryl Marie, Lisa

Asim, Saima Markwood, Noeleen

Baig, Ruby Baiori Jr., Leonard Baitz Jensen, Heidi Banerman, Jaclyn Banerman, Dawn Bartlett, John Becofsky, Theresa Biancamano, Martin

Minnick, William Bianchi-Rodriguez, Paola Mozdzen, Beatrice Blake, LaShonne Mutilitis, Barbara Borg, Jennifer Napolitano, Alison Botts, Michael Napolitano, Cheryl Braine, Samantha Negron, Caridad Nieratko, Anthony Campbell, Marie Carrion, LuAnn Nizolek, Rosanne Cassidy, Mary Ann Nowak, Christopher Nowak, George

Cetta, Michelle Chavis, Tiffany Nowicki, Brian Chiu, Shu Hui Nunez, Ramonita Corby, Monique Okie, Susan

Costa, Julia Oriolo, Regina

Cruz, Susan Padmore-Davis, Rhonda Davis, Pascale

Pagano, Doreen

Marra, Donna

Mastorio, Cathy McDonough, Susan

Medina, Rochely

Meyer, Christine

Mezzina, Christy

Meyers, Debra

DeCandia, Filomena Paradiso, Tracey DeCandia, Gina Parse, Victoria Decarlo, Michelle Parse, James DelGatto, Christine Patalano, Peter Dias, Denise Pearson, Maryalice Downey, Rosemary Peshori, Neelu Droulette, Andrew Pinzon, Maria DuBois, Carol Prakurat, Raisa Dunne, Colleen Ouinto, Louise Eck, Christine Rafthan, Fatima Epstein, Carolyn Rahman, Fawzia Esposito, Deborah Rasa, Patricia Ettari, Maria Raza, Uzma Eveigan, Donna Rivera, Migdalia Farrell, Kim Rochford, Maureen Fasulo, Jean Romero, Michelle Ferro, Frances Ruzanski, AnnaMarie

Frondelli, Susan Ryan, Judi Gala, Susanne Sabir, Fozia

Ganjwala, Bhoomi Santapaga, Margaret Garcia, Jakelyne Scavone, Cheryl Gates, Marie Schaefer, Maureen

Gawron Jr., Michael Schifman, Mindy Giannetto, Stephen Schneider, Theresa Giovenco, Bridgette Seeger, Elizabeth Godwin, Debra Shah, Ashita Shah, Antala Gonzalez, Cindy Gorka, April Siddique, Pakiza Grabowski, Stanley Siddiqui, Azra Guarino, MaryAnn Siddiqui, Salma Hadlaw, Irena Siriday, Bianca

Haklar, Kenneth Skarzynski, Clemens
Harkness, Thomas Sollecito, Grace Renee

Harris, Jasmine

Hausmann, Rosemary

Hays, Sharon

Heckmann, Jill

Helfer, Maureen

Henderson, Richard

Stolte, Deborah

Stomiany, Thomas

Swanton, Theresa

Symber, Lucyna

Szymanski, Felicia

Tajdeen, Adewale T.

Hendry, Timothy
Herrick, Doreen
Hill, Donald
Holon, Monica
Testa, Kenneth
Thasites, Sharon
Thornton, Kedar
Tomko, Gregory

Hubka, BarbaraToor, LakhvirHughes, LyndseyTorres, IvetteImperato, JeanTowlen, John

Jankowski, Stanley Tramontana, Eleonora Javed, Tayeba Tricarico, Lorrie

Jhala, Meena Tsaptsinos, Ann Marie

Juenemann, Charlene Unger, Linda Kaufman, Allison Upadhyay, Punita

Kaur, Baljit Valkova-Kamberov, Jana

Khan, Farah Vitti, Laurie

Kittel, Grace VonGonten, Palma Knight, Gwendolyn Walsh. Catherine Knoll, Eleanor Walton, Melinda Kobis, Anthony White, Rosalia Kudrak, Linda Wingerter, Royce Kulpa, Doreen Wingerter, Florence Lacko, Sr., John Yannuzzi, Joseph Lemerich, JoAnn Young, Joanne Leschinski, Kathy Zammit, Franca Link. Ilene Zibrosky, Esther

13. The Superintendent recommends and so moves the Board of Education of Sayreville to approve the following support personnel to the **substitute teacher** list for school year 2015-16. All applicants are certified for substituting. <u>No</u> substitute applicants <u>can</u> be used as a substitute employee until their name appears on an approved substitute list issued by the Superintendent's Office.

Abouchakra, May

Alvarez, Olivia

Andrews, Keri

Antenucci, Lila

Argoti, Miguel

Aziz, Mariam

Kyriacou, Michael

Langan, Patricia

LaRocca, Joseph

Legrid, John

Linder, William

Lisanti, Michelle

Badessa, Courtney

Lutz, Joan

Badessa, Courtney Lutz, Joan

Balka, Cheryl Macholl, Brandi
Balzofiore, Ashley Malaquias, Frank
Bandyopadhyay, Jyoti Malara, Anthony
Basile, Antoinetta Malara, Joseph
Batko, Kristen Manzello, Danielle
Berg, Sabrina Marangos, Clone (Clair)

Bertolotti, Ann Marie Marciniak, Sylvia
Beselinoff, Joseph Mastriolia, Michael
Bianchi-Rodriguez, Paola Matias, Tabitha

Bielak, Christopher Mazur, Kathy

Blake, Janet McCormack, Sandra
Boccassini, Edward McMahon, Joseph
Bradshaw, Tonya Melanaski, Kristen
Braine, Samantha Mesa, Stephen
Brazaitis, Virginia Moodhe, Kellianne

Brophy, Dawn Moolamdriyil, Kuriakose

Bruce, Robert Moran, Kimberly
Bulakowski, June Moser, Jeannette
Burrell, Rose Mosser, Sean
Carney, Marisa Mosser, Lorrie
Cartegna, Nicholas Myatt, John
Carvan, Wahid Newman, Phyllis
Castlegrant, Charlene Nicholas, Brian

Chuntz, Theresa Nolan (Quinlan), Sharon

Ciejak, Carrie Novak, Jaime

Clark, Barbara Nowak, Christopher Cobell. Marianne Nuzzolo, Nicole Coderre, Mari Oriolo, Regina Comerford, Molly Ortiz, Jonathan Conley, Antoinette Palermo, Nicholas Cooper-Shugrue, Stacy Palma, Gianine Costantino, Jessica Palma, Alyssa Coyte, Rebecca Pandoh, Reema Creed, Carol Paradisio, Tracey Cupo, Wayne Parchman, Melia

Cupo, Wayne Parchman, Melia
Dakelman, Mitchell Pasko, Michelle
Dehnz, Jess Pedersen, Rosemary
DeLucia, Linda Peshori, Neelu
DeProssimo, Jennifer Petrillo, Rosaria
Derenoski, Diane Prince, Michael
DeStefano, Francesco Provenza, Janice

Downey, Rosemary

Eberhardt, Richard

Eskander-Basily, Nancy

Farrell, Kim

Rizwan, Asifa

Roman, Andrea

Fay, Tara
Roman, Andrea
Fischer, Michele
Russo, Debra
Ryan, Judi
Gala, Susanne
Gandhi, Priyanka
Gandhi, Sweta
Gandhi, Sweta
Gates, Marie
Roman, Andrea
Russo, Debra
Ryan, Judi
Salvatore, Erica
Samuel, Jean
Schaefer, Maureen
Schaefer, Maureen

Jorgensen, Russell

Gates, Linda Sharma, Neeru
Gidwani, Naresh Siddiqui, Salma
Giovenco, Bridget Siluk, Antonietta
Gola, Chris Simon, Alex
Gregory, Michele Simon, Katherine

Gregory, Michele
Griffith, Kimberly
Hadlaw, Irena
Hammond, Jennifer
Harkness, Thomas
Haussmann, Rosemary
Heath, James
Simon, Katherine
Siriday, Bianca
Skorupski, Beth
Soman, Sheeba
Squillace, Michael
Stolte, Deborah
Stratton, Susan

Helfer, Maureen

Hennessy, Mary Katherine

Hess, Samantha

Szabo, Robert

Hewlett, Bruce

Sztukowski, Carrie

Hilyard, Gianna Tajudeen, Adewale T. Hochron, Mary Toth, Jeffrey Hogan, Jamie Trippodi, Laura Huggins Hart, Terri Truchan, Brian Tutela, Ronnie Inganamorte, Ellen Ingrassia, Daniella Valkovic, Joanne Jaysnovitch, Susan Vanore, Aileen Jhala, Meena Wahba, Ragaie Johnson, Aminah Walsh, Patrick Johnson, Barbara Walton, Melinda

Juenemann, Charlene Wiecek, Marguerite Kaplan, Hollie Wilson, Susan Kaprowski, Joseph Wimmer, Beverly Karmin, Sandra Wingerter, Gregory Kashif, Amna Wright, Karen Kelly, Mary Younger, Ashley Zambrano, Brenda Kornett, Lorraine Kraivec, Michelle Zapytowski, Joseph Zebrowski, Kim Krasovich, Thomas Kronowski, Yvonne Zeni, Kathleen Kulick, Jillian Zinze, Alan

Westheim, David

14. The Superintendent recommends and so moves the Board of Education of Sayreville to approve the following support personnel to the **substitute nurse** list for school year 2015-16. All applicants are certified for substituting. <u>No</u> substitute applicants <u>can</u> be used as a substitute employee until their name appears on an approved substitute list issued by the Superintendent's Office.

DeOliveira, Deborah Kenny, Charlene Makarets, Elena Murano, Melissa Oliver, Kristin Rutter, Linda Ryan, James Valentin, Melissa Yetman, Donna

Approval of Professional Days

15. The Superintendent recommends and so moves the Board of Education of Sayreville to approve the following professional days at the amounts listed in addition to mileage at the employee's respective contractually negotiated rate.

| Name | Professional Day | Date | Registration Fee |
|-------------------|---|---------|---------------------|
| Dana Ebbighausen | Code Studio Workshop for Teachers Grades K-5 | 6/8/15 | Free |
| Allison Cella | Chancellor's Day @ American Museum of Natural History | 6/4/15 | \$35.00 |
| Lori Pacansky | Code Studio Workshop for Teachers Grades K-5 | 6/8/15 | Free |
| Stephanie Reed | Practical Therapy Techniques for Challenging Articulation | 6/5/15 | Free |
| Tamika Reese | 30 th Annual Educational Policy & School Law Seminar | 6/12/15 | Free |
| Joseph Trivisonno | Museum of Mathematics | 6/9/15 | \$15.00 |

X. PUBLIC PARTICIPATION ON AGENDA ITEMS ONLY

XI. <u>SUPERINTENDENT'S REPORT APPROVAL</u>

- VISION 2030 FINANCE AND INFRASTRUCTURE
- VISION 2030 STUDENT ACHIEVEMENT
- VISON 2030 POLICY
- VISION 2030 PERSONNEL
- XII. <u>DISCUSSION</u>
- XIII. PUBLIC PARTICIPATION

XIV. <u>NEXT MEETING DATES</u>

- June 16, 2015
- June 30, 2015 *Special Meeting if Required

XV. <u>ADJOURNMENT</u>

| Time | | |
|------|--|--|
| | | |
| | | |